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Sequences Arithmetic & Geometric
Alg 2 Trig G
Complete the blanks and/or complete the tables in each problem.

Term # How many
black triangles?\/ Gw‘m
1)
1 | \
- 3
3 q 5‘%
! 27
Term3 5 g |
Figure # Volume PV‘M"'
1 \
2 3
3 9 +L
‘ g
(
* 77 5 q
2 (A :
l, -
942029 b & 4)m/4,'/%,'/w@
/\
X
5)°8, 15, 22, 29, 3 , 5D ) 4,9,16,25 3k, 49 . b4 Pu&d’
Aihn NE1TveR] “fpoces
Avre all these arithmetic and geometric sequences?? Which ones are arithmetic? Which ones are
geometric?? d J _
& /b wlhip)ition .
Formula for%rfaréf?r:etic sg(;\uenc; ‘ a, = ﬂ”‘ -|'0(W\ (&A\’\g WB
a,=a +d(n-1) a, = |% term
N—— Vv — d = yc\ouJ(wl adAhsn o subtvachen
" = numbey of eom oy,
Practice: a,=|ooo Az 200

7) In August, you open a savings account with $1,000. Each month after that, you deposit $200. If you never
withdraw money, express the money in your savings account. How much money would you have after 11
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8) A rumor that Justin Bieber is performing a concert at HC is started by a group of 6 friends at lunch. The
rumor spreads and the total number of people who have heard the rumor increases by 35 people every day.
Several days later, you find out that 321 people heard the rumor. Exactly how many days later was it?
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Ok, good. Now.....
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Use the following sequence to answer the questions below: 30, 120, 480, ...

Is there a common difference\ common ratio,|neither, or both?

Find the value if possible: (= ':I
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11. a) What is the formula for this sequence: 30, 120, 480, ...
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b) Find as: = 30-4% ' 230,120
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Let’s Practice:

12) Find the formula and the indicated term of each sequence:
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